
 

 

UTRJEVANJE SEŠTEVANJA, ODŠTEVANJA IN MNOŽENJA DECIMALNIH ŠTEVIL   6. razred 
 

1. Izračunaj vrednost izraza. 
a) 4,325 + 832,7 + 0,213 + 6 =  
 
 
 
 
 
 
b) 732,743    c)  43,92   č)  156,3 
     - 68,567       -   8,7        -  87,468 
 
 
 
 
 
d) 612,7 – 43,68 + 218,3 = 
 
 
 
 
 
 
e) 47,32 – 156,8 + 432,63 = 
 
 
 
 

2. Zmnoži. 
 a) 42,835 . 10 =   b) 0,653 . 102 =    c) 8,47 . 1000 =  
 
 
 
 
 
 č) 427,6 . 8 =    d) 23,54 . 2,7 =    e) 0,058 . 0,6 = 
 
 
 
 
 
 
 f) 6,3 . 4,26 . 7 =   g) 0,47 . 5,3 . 9,61 = 
 
 
 
 

 

 

 

 


